F+7L WoEair] 91 R w2
mE) B4 &= R 2
2 9 o 4 | 7
6 4 2 3 1
o 3 6 8
3 8 4 7 6
9 7 3 119
9 2
8 2
1T 2 )/ 6 9
8 6 5 4

*E

]zﬁfuﬂ%

studywith.net ol H




Fr7L [#dEmF] (9] 240
me) 84 =® A 3
2 3 ] 9 8 6
J/ 9 8 3 2 9
8 9 3 2 74 1
4 9 8 J/
1 8 2 6 9
9 4 8 1 2 6 9
7 6 9 1T 3
9 9 3 6 | 7
1 6 9

*E

]zﬁfuﬂ%

studywith.net ol H




Fr7L [#dEEF] (9] 270
mm) 8% & A 3

J/ 2 9
2 6 1T 9 4
1T 5 917 2 8
9 1 3[4 6 8 2

2 o519 3 4 7 6
4 7 | 6 1T 3
3 9 76 2 o 8 1
6 2|15 1 3 9
o 8 1|3 6

*E

A JEE=ak

studywith.net ol H




2P AL i Tve - [Z A I ) I No.04 IEEX
mm) 8t & A 2

1 2

9 8 3 1
6 o0 1 4

4 7 6 2

9 3 9 7 8
8 2 | 1

3 1 8 2
I/ 9 O 6 3
2 6 4 1

*E

]zﬁfuﬂ%

studywith.net ol H




Fr7L [#dEmF] (9] 240
mm) 8t & A 2
2 J/
o | 1 3
6 3 9
113 95 7 8
8 9 O 6
6 | 2 1
219 6 8 3
415 8 1T 2
J/ 6 4

*E

]zﬁfuﬂ%

studywith.net ol H




F+7L WnEair] 91 3 a2
mm) 8t & A 2
3 2 9
J/ 8 3
9 1 3 7 8
2 9 8 1
1 4 2 6
8 6 1 2 9
4 3 9 6 9
6 9 4 S0
9 6 3

*E

]zﬁfuﬂ%

studywith.net ol H




Fr7L [#dEmF] (9] 240
mm) 8t & A 2
8 9 9 3
2 6 9 7
912 5 4
/) 2 | 7 9
J/ 6 | 3 1 2 9
3 1| 4 8
9 719 3 4
8 4 3 1
9 3|18 4 6

*E

]zﬁfuﬂ%

studywith.net ol H




Fr7L [#dEmF] (9] 270
mm) 8t & A 2
4 2 1| 8
6 8 711 5 2
2 1 6 8|7 3 4
6 9 913 2 17
2 3 1 519 4 8
8 9 J/ o | 6 1
9 3 2|6 8
8 o5 6 9 2 3
1T 3 2 9

]zﬁfuﬂ%

studywith.net ol !




F+7L WoEair] 91 EE) w2
mm) 8t & A 2

9 4 1

J/ 3 4
3 6 9 2
J/ 2 6 8
6 1 4 2
4 I 9
8 9 2 4
1 9 8 6 3
2 3 1 J

*E

]zﬁfuﬂ%

studywith.net ol H




Fr7L [#dEmF] (9] 240
mm) 8t  &# A 2

8 ] 3 2
1 9 8 9

4 1 8 6
2 8 6 4
9 1 2 6 7
6 9 2 9
J/ 4 9 8
9 6 1
4 2 7 3

*E

]zﬁfuﬂ%

studywith.net ol H




» 7L [#oEREF] (9]

j_

Rit

=]

studywith.net s

IZ 27 )5




»7L [#oEREF] (9]

j_

Rit

=]

studywith.net s

IZ 27 )5




v 7L [#oEREF] (9]

j_

Rit

=]

studywith.net s

IZ 275




»7L [#oERF] (9]

j_

=]

studywith.net s

IZ 27 )5



F7L [#ERF] (9]

Rit

AR27YE

=]
3

studywith.net




»7L [#oEREF] (9]

j_

Rit

=]

studywith.net s

IZ 27 )5




»7L [#oERF] (9]

j_

Rit

=]

studywith.net

IZ 275




> 7L [#oERF] (9]

j_

Rit

=]

studywith.net e

IZ 275




»7L [#oEREF] (9]

j_

Rit

=]

studywith.net

IZ 27 )5




» 7L [#oEREF] (9]

j_

Rit

=]

studywith.net s

IZ 27 )5




